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Ларморовская прецессия. Гиромагнитное отношение
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ω0 = ΔE/h = γB0             (rad/sec)

                         ν0 = ΔE/h = γB0/2π           (Hz )
for B0 = 9.4T

  Nucleus        γ/107 T-1S-1                         ν0/MHz                                    Natural    

                                                                                                          аbundance

       1H             26.75                        400                                 99.985

      2H               4.11                          61.4                                0.015
     13C               6.73                        100                                   1.108

     15N            – 2.71                          40.5                               0.37

      19F             25.18                        376.5                          100.0

      31P             10.84                         162.1                          100.0

7. The torque exerted on a magnetic moment by a magnetic field inclined at any angle relative to the moment causes the nuclear magnetic to precess about the direction of the field with a frequency given by the Larmor equation ν0 = - γB0/2π; such a movement is analogous to the motion of a gyroscope.

5. Nuclei with large γ and high natural abundance are favorable: hence the 1H as an NMR nucleus is so popular.

Согласно законам классической механики момент сил, действующий на магнитный момент, наклоненный под произвольным углом θ к направлению магнитного поля, заставляет магнитный момент ядра прецессировать вокруг направления поля с Ларморовой частотой.





[Аналогия с гироскопом (волчком)]











